SCSS[1ZD-SCSSL_IMD  EFEIR Jiwata TOHATSU

SCSS[_1SD DEER - HHBHEE
503
\Y
- a2 HE | mE G
L $45C FE |ABRREIE
‘:J _ f S45C | EmERRIE [NABR(SUSXMT)IR
= SUS304 - [RABRSUSKNTIE
BHRE PN
/
g
t
oBTERE
Y L oB PE
26 001
28~30 | 1007
S45C
RE RERE SUS304 | g | | | p | BPB y x| v | wm
m o (B m % O |EE| W R |EfE t |BE
SCSS0612ZD| ~ |[SCSS0612MD| ~ [SCSS0612SD| A 6 | 1220 ] 2 [A70]1 6 | 4 | M4x10
SCSS0818ZD| ~ [SCSS0818MD| ~ [SCSS0818SD| A 8 | 18 [ 30 ] 3 [A70]15] 9] 5 | mMex15
SCSS1018ZD| ~ [SCSS1018MD| ~ [SCSS1018SD| ~ | 10 | 18 | 35 | 3 [A70|15 | 10 | 6 | M6x18
SCSS1218ZD| ~ [SCSS1218MD| ~ [SCSS1218SD| ~ | 12 | 18 | 35 | 3 |[A70| 15 | 11 | 6 | M6x18
SCSS1318ZD| ~ [SCSS1318MD| ~ [SCSS1318SD| ~ | 13 | 18 | 35 | 3 [A70| 15 | 11 | 6 | M6x18
SCSS1518ZD| ~ |[SCSS1518MD| ~ [SCSS1518SD| ~ | 15 | 18 | 40 | 3 [A70]15 [ 13 | 8 | M6x20
SCSS1618ZD| ~ [SCSS1618MD| ~ [SCSS1618SD| ~ | 16 | 18 | 40 | 3 [A70] 15 | 13 | 8 | M6x20
SCSS2020ZD| ~ [SCSS2020MD| ~ [SCSS2020SD| ~ | 20 | 20 | 45 | 5 [A70| 15 | 15 | 8 | M6x20
SCSS2520ZD| ~ [SCSS2520MD| ~ [SCSS2520SD| ~ | 25 | 20 | 50 | 5 |[A70| 15 | 18 | 10 | M6x25
SCSS3020ZD| ~ [SCSS3020MD| ~ [SCSS3020SD| ~ | 30 | 20 | 55 | 5 [A70] 15 | 20 |10 | M6x25

T & % | w16 [F]

SCSS0612ZD

=113



